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Ums: Jlata:__ OueHka:
5x 1079 = 5x10° =
746,77+ 1002 = 3% 102 =
—1>x 107 = 164,9 x 100D =
828,9+ 1002 = 100D =
706,2 x 1003 = 4 x 1073 =
1070 = 627,8 x 1009 =
870,4+10* = 1003 =
7x 100 = 265,3 + 1004 =
1079 = 7x 10% =
107 = 5% 10% =
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= Adka

OtpunaTenbHble KCIOHEHTHI 10

Nwms:

5x 10 = 0.0005
746,7 + 1072 = 74670
—1x 107 = -0.001
828,9 + 107 = 828900
706,2 x 10 = 0.7062
1077 = 0.1

870,4+ 10° = 8.704

7x 10070 = 0.7

107% = 0.0001

1072 = 0.001

Jlata: __ Ouenka: ____
5x10°=5

3 x 10% =300

164,9 x 100D = 16.49

1079 = 0.1

4% 107 = 0.004

627,8 x 107 = 0.6278

107 = 0.001

265,3 + 107" = 2653000

7% 10% =700

5x 107 = 500
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